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P 100kN/mM%BZ. 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3mZiBZ % - ~ — — —
zhst 1.00 | 000 ~ 671 84.70 | R4t | 000 ~ 0.00| 1.57 7.95 zhst 1.00 | 500 ~ 9.10 84.70 | EhS | 5,00 ~ 9.10| 1.57 7.95
2 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/M%Z#B% % — - ~ — — |3m%E{BZ B - ~ — — —
Thilst 1.00 | 000 ~ 754 96.38 | #hst | 000 ~ 7.54)| 1.96 9.88 st 1.00 | 6,00 ~ 11.30 96.38 | #hst | 6,00 ~ 1150 1.96 9.88
3 100kN/m%x#25| 1.00| 000 ~ 1.08| 11627 |3mE#Bz5| — ~ — — — | 100kN/m%x#%25 | 1.00 | 11.47 ~ 1600 11627 |3mE#BZD - ~ — — —
zhs 1.00 | 108 ~ 887 100.00 | Thst |ooo ~ 887|217 10.98 zhs 1.00 | 6.00 ~ 1147 100.00| ZnLS | 5,00 ~ 16.00| 2.17 10.98
4 100kN/m%#8z5| 1.00 | 000 ~ 1.10| 11657 |3mZz#Bz23| — ~ — — — | 100kN/mM%&#z25 | 1.00 | 1093 ~ 1490 116,67 |3mE#BZD - ~ — — —
s 1.00 | 1.10 ~ 889 100.00 | #nLsy | 000 ~ 889 | 2.06 10.41 s 1.00 | 5.00 ~ 1093 100.00 | =nhst | 6,00 ~ 1490 2.06 10.41
5 100kN/mM##B25 | 1.00| 000 ~ 1.71 126.15 |3mZEBRD| — ~ — — — | 100kN/m%#82% | 1.00 | 1054 ~ 1660 126.15 |3m&EBZD - ~ — — —
s 1.00 | 1.71 ~ 949 100.00 | =nLst | 000 ~ 9.49| 2.36 11.91 ThList 1.00 | 5.00 ~ 1054 100.00 | =hst | 6,00 ~ 1660 2.36 11.91
P 100kN/mM%#BZ 5 — - ~ — — |3mEBZB| — ~ — — — | 100kN/mM%E#BZ 5 — - ~ — —|3m%iBZ % - ~ — — —
zhs 1.00 | 000 ~ 760 97.34 | #FhS | 000 ~ 7.60| 1.96 9.92 zhs 1.00 | 500 ~ 1140 97.34 | #FhS | 500 ~ 11.40| 1.96 9.92
7 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3m%E#BZ B - ~ — — —
zhs 1.00 | 000 ~ 5.02 62.563 | #nst | 000 ~ 000 1.66 837 zhs 1.00 | 6.00 ~ 540 62.53 | #nS | 6,00 ~ 540 1.66 837
P 100kN/ Mm% 25 — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%Z#B% % — - ~ — — |3mE{BZ B - ~ — — —
zhs 1.00 | 000 ~ 483 60.19 | =nst | 000 ~ 483 1.84 9.27 zhs 1.00 | 65.00 ~ 520 60.19 | =nhst | .00 ~ 520 1.84 9.27
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM%#8 %% ~ ImEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#B2. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ IMEEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%{BZ. 5 ~ ImERBAD ~ 100kN/m%#8% % ~ ImEEBZD ~
zhs ~ ZhnLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/ Mm% 25 ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhs ~ ZhLst ~ zhs ~ ZhLst ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/m%#8 %% ~ ImEBZD ~
zhst ~ st ~ zhst ~ st ~
100kN/mM%#BZ. 5 ~ ImERBAD ~ 100kN/mM##8 %% ~ ImEBZD ~
zhLst ~ LSt ~ zhLst ~ zhLst ~




